SET-iil/ Group: Mechanical /2016

[SET-III]

GROUP: MECHANICAL

Marks: 150

NOTE:
(i} Attempt all questions. Each question carries ONE mark. Thera will be negative marking. Every wrong

* answer will result in deduction of 1/4 marks.
There ire 150 questions in this booklet. Aga

{in)

suitable circle with Black/Blue Ball Pen in the OMR answer sheet supplied to you separately.

[ENGLISH/GK/MENTAL APTITUDE]
Maximum Oxygen is available from
" {A) Deserts
(B) Green Forests
" (C) Grass Lands

_ " (D) Phytoplanktons

=+
5'

Which of the following-is a renewable
resource? ’
{A} Coal
" {B) Mineral Oil
(C) Natural Gas
{D) Forests

Which of the following countries is fast
moving towards a cashless economy?
(A} Denmark

- (8) Sweden
(C) Iceland:
(D) Norway

Which country recently detonated its
- first hydrogen bomb?

(A) South Korea

B} North Korea .

(C) Pakistan

(D) Iran

Which. city will host the 2022 Aslan
Games? -
(A} Manila
(8) Hangzhou
~~{C}Sama = ... ., .
(D) Osaka

Time: 2:30 hours .

inst each question four alternative choices (A), (B}, (C) and
{D).are given, out of which only one is correct. indicate your choice of answer by Darkening the

6. Who among the following is the first .

Indian woman mountaineer to reach
‘the summit of Mount Everest?

(A) Premlata Agarwal

(B} Arunima Sinha
'{C} Bachendri Pal

{D) Tashi Malik

7. Whose army did Alexander, the Greek
ruler confront on the banks of the river
. Jhelum? o
- [A) Chandragupta Maurya . -
(B) Ambi
(C) Dhanananda . .
(D) Porus

8. InEMI, ‘E’ stands for
. {A) Earned
- *{B) Economics "o . g
(C) Easy -
{D) Equated

9, Who  propounded the théory . of
‘Economic Drain of India’ during British
jmperialism? T

{A}). W. C. Banneriji % 4
(B) Dadabhai Naoroji § & .
(C} Gopalkrishna Gokhale. -
(D) Gandhiji

10. The Election Commissioner: can - be
removedbythé .  « '
". (A) Chief Election Commissioner -
(B) Prime Minister '

(C) President on the recommendation

. -+ of the Chief Election f:ummigsln_ne_r
- {D) Chitflustice of India .. -
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11. Consider the following

events
connected with Indian  National
Muvemerit _and find the correct -

chronological order of the events from
the codes given halow -

i. Demise of B. G. Tilak
ii. Passing of Rowlatt Bill as am Act
iii. Jalianwala Bagh Maesacre
- iv. Arnritsar Session of indian National
Congress, 1919

Codes

© (A} i, i, v, |
(B v, i, ii,¢
(C) i, iv, &, §

[D} i, i, i, iv

12. 14 H'= 8, HE = 13, Then ‘HEN’ will be
"equalto +

(A) 22

(B) 24

{C} 25

(D} 27

" In each, ef the _faﬂewmg Questions, an

rdramatrc expression/ a proverb has been - -

grven, followed by some alternatives. Choose

the one which best expresses the medning of

given Iaremfpmverb |

13, A pipe dream
~ {A) A pleasant dream
(B) A bad dream
. (C) Animpracticable plan
(D) A foolish idea -

14. Tospill the beans
- (A To reveal secret information
(B} To misbehave -
(C) To keep secrets
(D} To talk irrelevant

' HH in the Neuks-wfda suftuble tense fmm ‘the
e!tematfm in the foﬂowfng questf«m

s & adeﬂum pre-
""" _emptive action to a\rert this-tragedy?
_ [A) Would you not be taking
(B) Would you have not taken '
(C) Shall you not have Taken
(D) Should you not have taken

16. Had she

SET-MI/ Group: Mechanicol /2016

known about it, she
have stayed longer.

{A)} would '

(B) might

(C} may

(D) shouid

in each of the following questions, a
sentence has been given in Direct/ Indirect
Speech, Out of the four alternatives
suggested select the one which best
expresses the same sentence in Indirect/
Direct Speech.

17. The Sage‘ said, “God rretps those who
help themseives.”

(A} The Sage said that God heips those

who help themselves.
(B) The Sage szaid that God ‘helped those
who helped themselves

(C) The Sage said that God helps those '

who helped themselves

(D) The Sage said that God helped those "

who help themselves

18. He asked hijs teacher "’Heed 1 read this
chapter?” y

(A) He asked his teacher whether there '

~ was a need to read that chapter.
(B) He asked his teacher whether there
" he needed to read this chapter.
(C) He asked his teacher if it was
necessar*,f to read this chapter.
~ {D) He asked his teacher if he had to
read that chapter. ]

" Fill In the blanks with suitable words from

the alternatives in the following questions:

19. - * you' -drink too much, R will °

yaur judgement.
(A) impede’ s
(B) impair .
‘(C}imﬁﬁse‘ g
aE _'_LD}lmpel ., T

20. 'The Chalrman treated the ernpleyees
toa___ Iuneh at an expensive
" hotel, -
(A} precious
(B) sumptuous
- (C) thriving
(D} stipendous
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- 25.

26,

ICHEMISTR?]
‘Which of the Iollowmg has hlghest

. +INass

(A)SOgmiron
(8) 5 moles of Ny
(C) 0.1 mol atom of Ag
D) m“atomsofcarhon

The oxidation numher af osrmum in
050, is
(A) +7,
(B} +5
{C) +4
(D) +83

An oxide of metal {M} has 40% by mass
of pxygen. i, the atomic mass of M is
24, the emp.nca-‘l farmula r:.-f li‘i mndﬂ
will be?”

(A) M,0

(B} My0; ’ ,

(C) MO .

(D) MaOy

Which of the following idns has the
smallest radius?

(A) Lit

.{B) Na’

(C) Be™

{0y K-

Which of the following elements show
zero valency? :

(A} PL

(B) Au _ .

(C} s

D} Ne_

The atomic numbers of vanadium (V),
" chromium (Cr), manganese (Mn) and
iron (Fe) are 23, 24, 25 and 26
respectively, Which of these will shiow
the highest 2™ bonization enthalpv?
R Fe . :
(8} v ' '

(C) Cr

~D)MR T e . e

BC, mulewle s p!anu wheréls NCL is
pyramidal because
: {A) B-C1 bond Is more- polar than N-Ci
bond

(B} N-Cl bond is more :n-.ralent than B-Cl
bond *

*

28.

29.

{C} Nitrogen atom is smaller than boron

atom
{p) BCl; has no lone pair of elcctrons
hereas NCl; has one lone pair of

e!er_trc:ns

Which of the following has the highest
dipole moment?-

(A) AsH;

{8} SbH;

{C} PH;

(D) NH;

The hybridization of caflfon in 1,3-
butadiene is

. {A) sp

(8) sp’
(C) sp?

" (D) sp? and sp’

30.

31.

32.

33.

*

" (D) zero

‘i A= tetracyanomethane; B= CO,; C=
‘benzene; D= 1,3-butadiene. The ratio

of & and 7 bonds will be in the order |
{A) A=B<C<D
{B) A=B<D<C
(C) A=B=C=D
(D) C<D<A<8B

The frequean of a wave of light is 12 x
10“ 57", The wave number assonated
with this fightis

{A) 5x107m . i
{8) 4x10% cm™

€} 2x107 m™

(D) 4x10% cm™

_An electron jumps from 6" energy level

to 37 .energy level in H-atom. How
many lines helung to the \risibin
region?

A : 5
(8) 2 . '

AC)3 : .

[D]' Zero )

L)
L)

“The orhital angular’ rnumentum forad-. ..

efectron |s , i

W VEham .

(B) YZ (h/2m)’
(€} {h/2m)
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54. The ‘number of nodal planes in @ p,.

35.

36.

37.

38.

orbital is _

(A) 1 : =
{8) 2 ' :

(C) 3

-

(D) zero

‘Which of the following has maximum

number of inpaired electrons (At. no.
of Fe = 26)?

* (A) Fe

(B} Fe ()
{C) Fe L)
(D) Fefiv)

[PHYSICS)

A particle revolves around a circular ..
path. The acceleration af the patticle is .

(A) along the alrcumfemnce of the
" circle
(B} along the tangent’

- 1C) along the radius

(D) zero

A heavy and a light body have equal -

kinetic energies. Whlch one has a
greater momentum? h
(A) Light body .

(8} heavybody = | .

(C) both have equal momentum

(D) information is insufficient

Cream gets separated out of milk when

it is churned, itisdueto.
(A) Gravitational force
{B) Centripetal force

(C) Centrifugal force -
(D) Frictional force

39. anqt.;e is analogous to force, and

.

moment of inertlais analogous to
{A) mass

(B} & momentum

- {C) impulse

[D] none uf these

PR Qe BT

* 40, The radius of mﬂnn [ lndependent

o

of the
{A) focation of axjs of rotat[un
_(B) ‘distribution of mass |

(C) shape of body

" = (D) mass of body °

SET-1H/ Geaup: Mechaaical /2016 ___

41. The n'!umer;t. of inertia of 2 thin

42.

- 45,

47.

uniform circular disc about one of jts
diameter Is . The moment of inertia-
about an axis perpendicular to the
circular surface and passing through its
center is

(A) (21)4*
(B} 2J

(€) 32

(D) /20" -

In the equation, pV=RT, V stands for
the volume of

{A) any amount of gas

(B) one gram of gas

(C} one gram moiecule of gas

(D) one liter of gas

& gas hehaves as anideal gas at

(A} very low pressure "and high
temperature ;

{B) high pressure and jow temperature

{C) high pressure and high temperature

(D) low pressure and low temperature

If p is the pressure of the gas then
kinetic energy per unit volume of the
EAS 15

A p2 e
(B) p : ,

(C) 3pf2 .

(D) 2p-

Angular momentum is

- {A} scalar

(B) an axial vector
(C) a polar vector
{D) none of these

Energy of electmmagneﬂc waves Is due
to their

(A Wavelength

(B} frequency

(C) electric and magneti: ﬂeld

{D} none of. these

an L
Lk -oT n

Out of the following phenrm'.ltnm the
one which canndt be’ e:phlned on the'
basls of wave theory Is :

(A} Polarization oo

(B) -Diffraction '

{C) Photoelecttric effect

{D}) !nterference
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gk " A

L4

ag,’ " The differeri;ce hatwsean soft and hard

49,

50.

51.

52.

53. The sum .of n

PR T

" {D) None of the above.

“{A) velocity

1oy Mnt)(En+1)

) HERRED

' (8) n{#n-1)(2n-1)
'3

X-rays is of

{B) frequency '
{C) intensity

{D} polarization -
Nuclear . fusion requires  high
temperature because

(A) all nuclear reactions abserb heat
(B) “particles cannot come closer unless

they are moving rapidly

" {C) binding energy must be’ supplied

from an external source

(D) mass deficit must be supplied

if the radiation from a radioactive

materiai Is passed through an eleciric

field” ' .

(A} all the three kind of ravs will be
‘deflected

- {B} only gamma rayis deflected

[C} only alpha: and beta
deflected
(D) only the alpha ray is deflected

‘rays are

[MATHEMATICS]
The valie of k, so that the equation
2x* + kx—5 = 0 and x2 —3x—4 =
0 may have one root in common is
(A) =6
{B) —27/4
€6 -
(D) None of the abt}ve

If each term of an infinite G. P.is twice

‘the sum of terms following it, then the
_ commoh ration of G, P. is ’

(A} 1/3

. (B) 3

02
(D) None of the above. .

) terms of the serles
12 +32 4524 s

L ] '

\ RER=-1)2n41)
(€} =

54.

Ll

55.

56.

57.

58.

-

L4

5.

|8

_General soiution of the equation

tan 54 = cot2A is

[A}ﬂ='—+; |
n
(B A= —-—; ’

b )
{C] A= ? + 7
{D) None of the above.

f cos x=-1/3 and x.ijies in third
quadrant, then sin x/2 is equal to

{A) J_
3

{B]
(© -2

(D) None of the above.

First negative term In the expansion
(1+x)7%is

. (A) 5™ term,

(B) 6" term
(€) 7" term
(D) None of the above,

tan~! (f) s 'tau"'(_?) is equal to
¥ +y. |

(A) =

L]

L)

© 3 ‘

(D) None of the above.

The area of a triangle formed by co-
ordinate axes and a line Is 6 square

-units and the length of hypotenuse is 5

units. Equatjen of the line is
(A) 3x— 4y =12
- (B) 3x+4y=12.

*{0) 3x+2y=6. .
(D)} None.of the abové. "

The angle hel:wean the Ilnu x.=a
andby-l—c-—ﬂls HRELL o R
w0 :
{3, ﬁ‘ . . P
{C) i o

lD} Nune of the above. '
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The ‘tangents to the circle xZ +y% =, " §1. The value ﬂff IIDH —-—)dx is equal
169 at the points {5, 12} and {12 —5) i -

.are : (A) %

{A) parallel @) 1

(B) perpendicular (€ -1

(C) coincident (D) .

51.

;
65.
i

. (D) ha).

A1

{D) None of the above.

68.
The equation of directrix of parabola

¥y 4y +4x +2=10is
A) x =-1 i
(8) x =-1

€) x = =3/2

(D) x = 3/2.

is

_ kﬁ—:£+msx,x£ﬂ, ) 69.
62. If f(x) :

x>0

(o

' continupus at x = 0; then the value of

K is
(Ay 1°

. {B} 3

() -

(D) None of the above. 70.

The value uf_-‘%(cas“l(sinx)) Is equal
k(o)

(A) —1

(B) 1

{C]

{D) Nnne of the ah-:we

if e+ e¥ = e"""?', thenﬁ-at {2,2) is

71.
(Ay2 ..
() 1 - '
(c) -1 .
(D) None of the above.

" The real number X when added to its

inverse gives the minimum value of the
sum at X eqyal to :

{8) -1

(C) -2
(D) 2.

The normal to"the cuive x=a(l+ . =~ -

‘cosf),y = asin @ atapoint & always
passes through the fixed point -

73,
{A) lﬂgﬁ) ) '

-(B) (0,3)

() (0,0)

‘ (A}

The value u;f x>1 satisf\!ring the
equaticn |; tlogtdt = f:-is

(A} Ve '

(B) e

(C) e?
(D) e—1.

{ sec®8 d@ is equal to

l(ser:ﬂ tand + log \secd +

taa g +c

(B} sech tand + log isecd +tan 8] + ¢

() —{secﬁ tan® + log 15&(:5’ +
tanfi) +c

{D} None of the above.

If the roots of the equation (b -
AOxl+(c—a)x+(a-b)=0  are
equal, then a, b and care n

{A} A.P.

(B) G.P.

{C) H.P.

_ (D} None of tﬁese

[M_ECHA.NICAL ENE%NEER!HG]

The law which states that heat and

work are mutually convertible” is

known as;

(A) Zeroth law-of thermodynamics
(B) first law of thermodynamics
(C) second law of thermedynamics
[D} third law of thermodynamics’

Which of the fulluwlng Is not a point )
"~ function - e '

{A) enthalpy
{B) entropy
(C) heat

'{D} prESU'fE . ‘.--". T

Second law ofthanmdynamlcs daﬂm

"{A) enthalpy

{B) enttopy

-(C) heat
" {D) work

£
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74.

75.

-

Kelvin-Planck statement deals with
(A) conversion of work into heat
'(8) conversion of heat into --mrk

(C) conversion of wnrk :
(D) conversion of heat

Isentopic flow is

" {A) reversible adiabatic flow

(B} irreversible adiabatic flow .

. {C) frictionless fluid flow -

" 76.

(D} rotational flow

‘Heat flows fiom cold substancé to hot

substance with-the wid of external
work. This statement is given by |

. {A) Kelvin

7.

78,

79,

-

(8) Joule

(C} Gay Lussac
{D) Clausius . G

The isentropic precess, on 2 Mollier
diagram, Is represented by '
(A} hiorizontal lins:

(B) vertical line
{C) inclined line
{D} curved line

-

The statament that molecular weights
of all gases occupy the same volume at
NTP is known as '

_ (A) Dalton’s law

(8) Avogadra's hypothesis
(C}Joule’slaw | . .
(D} Charle’s law

The entropy of an isolated system
increases during a

(A) reversible process

{B) irreversible process

(C) ideal process

(D) polytropic process

When a perfect gas.is expanded

through an aperture of minute

“dimensions, the processis
(A} isothermal w oA

(B) adiabatic
{C} isentropic
{D],,mrottljng .

In carnot cycle heat is re]ected at
cunstlnt o i

{A) valume

" {B) pressure

(C) temperature® - -
(D) entropy

"o

-

82,

SET-HI/ Gro Ltp Mcchurnfcal 2016

An  engine  Dperates  between
temperztures: of S00K and T, and

' another engine hetw/een T, and 400K. -

For both to do equal work, value of T

" owill be

83.

84,

85.

86,

*87.

' (B) enthalpy of steam .

(D) entropy of steam

(A} 650K -

(8) 600K
(C) 625K
(D) 700K

The efﬁ‘cien_cy of Diesel cycle approach .'-
. Otto cyde efficiency with

(A} increase in cut-off
{B) decrease in cut-off
{C) zero cut-off -

(D) constant cut-off

The characteristic gas constant (R} and _

universal gas constant {Rp) s related

through mﬂlECUI_::I' weight (M) as
follows; )

(A) R = MRy

[B) Ar= Ro/M .
{C) Rz =R+M ' y

(D) R = Rg-M

The statement that-the entropy of a
pure  substance . in: completa
thermodynamic equilibrium becomes
zero at the absolute zero of
Jgemperature is knownas- ., .

(A) zeroth law of thermodynamics
(B) first law of thermodynamics
(€} second law of thermodynamics

’ {D] third iaw of thermodynamics *

Combustion in compression ignitian
englneis . 4
(A) homogeneous '
{B}heterogenecus . -

{C) turbulent |

+(D} laminar -

The amolnt of heat: alsorbed " to
evaporate 1 kg of water from its
saturaﬂon temperature wlthnut
change of temperaturé s calied
(A)sensibleheat of water : © .

IC} latent heat of vapnrizatlari'
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s 83:. A simplf supported beam of span () °
" carries a point Joad (W) at the centre of
e “the beam. The shear force diagram will

be
(A} a rectangle
(B) a triangle .
(C} two equal and opposite rectangles’
(D) two equal and opposite triangles
89, The ratio of maximum shear stress to the -
" ' average shear siress in a rectengular
beam subjected to torsion s
{A)3/2
(B} 4/3
(C}7/2 :
(D) 2

A Xinematic chairni having N links will |,
. have

{A) {N-1} inversion
" (B) N inversion
" (€) (N-2) inversion

(D) {N-3) inversion

The product of circular pitch and the -
. diametral pitch is equal to
- JAY2I

{8) = -

{Chm/f2. :

91.

The path of the point of contact
between the involute teeth profile
Eears is

{A) circle

{B) straight line

{C) complex curve

: (D) parabola

92.

The difference between the upper limit
“and lower limit of a dlmensinn ls
known as 5
(A) basic size
(B) nominal size
. . [C)tolerance
* (D) actual size

ELI ) ‘

84, ‘Which one of the following threads Is -

" . having smallest Induded angle?
. {A}acme'thread ‘ ;
(B} BSW thread = . T
. {C) buttress thread '
(D} unified thread

a7.

_l'_———-_._,________-_-__‘__-._

. s,

*

. centre of percussion, then the pressure

o {C) zero

SET-1it/ Group: Mechanical /2016

*

If the tearing efficiency of a riveted
jmnt is 60%, then the ratm of pitch to .
diameter of rivet is '

(A) 0.2

(8) 0.33

(C)0.4

{D) 0.5

According to pfinciple of

transmissibility of forces, the effect of

a force upon a hady is . .

(A} maximum when it acts at the centre
of gravity of a body

(B) different at different pmnts in lts
line of action

{C} the same at evew pmnt in its line of
action

{D} minimum when it acts 3t the C_G of
the body

Centre of gravity of a thin hollow cone

lies on the axis at a height of

{A) Gne-fourth of the toial haight above .
base ook _ .

{8} one-third of the totai height above ]
base

(C) one-half of the tntal height above
base

(D) three-eighth of the tntal
above the base )

height

If a suspendet body is struck at the

‘on the axis_passing through the pnmt

of suspension will be

(A} maximum

(B) minimum_ . . )

(D) infinity . i L

Moment of Inertia of a thin circular
ring of radlus r, and mass M. ahuu‘t an .

. axis perpendicular to plane of rmg is .
{A) Mr . AR .

'lC}-z-Mr.z M Ta B

D o
i T
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. A
o E

1{Jﬂ. When trying to turn a key into a lock,
the following is applied”
(A) coplanar force
(B) non-co planar force
(C) lever
{D} couple

101. A transversely loaded beam will be
' unstable, if the end supports are
(A) one fixed othet hinge
(b} one fixed othér rollér
{C) ane roller other hinge- "
{D}) both roller

102. The designation M 33x2 of a boit

maans -

{A} metric threads of 33 nosin 2 cm

{B) metric threads -of 33 mm outside

" diameter with 2. mm pitch

(C} metric thrzaads Wlth cross-section of
33 mm?

(0 bolt of 33 mm nominal diameter
having two threads per cm

'103. A shaft subjected to combined bending

. and torsion ¢an be designed by the
following stress theory
. (A) maximurm stress theory,
(B} maximum normal stress theory
{C) maximum resultant stress theory
(D) maximum compression theory

104. For a shaft subjected to a t&rqué T and

bending moment M, the equlvalent
twisting moment is

{A} T +M
(8) Vi7"
(c) _-“}+J4f='+r='
(D) "!:fz-i-T:

105, The flexural rigidity of the defléction of

heams is expressed as

®mE L
(C) El1

o) 1, ..

g Er

106,

The torsional rigidity of a shaft is
defined as the torque Tequiied o
produce s :

(A} maximurn twist in the shaft

(B) maximum shear stress in the shaft

* (C) minimum twist in the shaft

107,

108,

{D) a twist of cne radian per unit length
of the shaft

Maximum range of a projectile motion
in a plane land s passibte for angle. of
inclination

{a}0°

{B) 20°

{c)235°

{D} 45°

For cantilever heam loaded by uniform

distributed load, 8M at free end is

given by
+ (A} =wl
L,
L‘Z
-w—%
: 7 i i
{Dl—%ﬁ N o

109,

110.

A light and heavy body, both havle

same kinetic_ energy. Which one ha's
higher linear momentum?

(A} light body )

(B) heavy body

(C} both havé same momentum

(D} unpredictahie

Whlch of the fullnwing parametars has
the same units? :

(A} shear force and bending moment
(B) linear impulse and momentum
{C) linear impulse and morment

{D} shear force and momentum

-
L -
-

Engines used for ships are normally
{A} four-strake S| englne of very hlgh

power . - | i
(8) two-stmke a engines of very high ‘
power .

{C) four:stoke CI englnes of high speecl

"{0) two-stroke S| engines of high pnwer
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112, ihe coplitacy tise at 20°C In a clean
) sfass tabe of 1 mm bare containing
sty is sgpreximately
bl i {.‘11] E;ﬁn’r': I
[V 10
2} 20 ma:
(D} 30 run

113. The total pressure on d hnﬁlnntally:
 immersed surface {of surface area A)’
with its c.g. at a depth X from_ liquid '
curface in a liquid of specific weight w . .

is given by

113, bamaaris used to measura
1A} Fotaticn
R fiew ' ¥
iC) pressure
1o} velocity

135, if the angle of repose s 30°, ‘the
aximum efficiency of inclined plane
for motion up the plane is :
(A}S0% :

13) 33.3%
(C) 75%
{D} 90%

-

116. A body floats la stable equilibrium
*  when . - .

(A) its meta-centric-height is zero

;B]'meta-center is above centre. of
gravity -

, (C) its centre of gravity is below its

. " centre of buoyancy. - . :

{D) meta-center has nothing to.do with
position of centre of gravity for

determining stability
. . 3i7. Buoyantforcels . - el v
(A) the’ resuliant force on a floating
* body g s
S {B)iheresultantfnrce on a body dueto

the fluld surrounding; it’

(C) equal to the volume of liquid
displaced

(D) the force necessary 10 ‘maintain
equitibrium of a_submergeq body

SEFNIf Growp:-Mechanical /2016

118. Which of the following menometer has
highest sensitivity- :
(A} U tube with water
(8} inclined U tube
{C) U tube with mercury
{D) rnicro-manameter with water

319, Wavking principle  of dead weight
pressure gauge tester Is based on .
() Pascal’s law
(8} Dalton”s law of partial pressure
{C) Newton"s law of viscosity
(D} Avogadr™s hypothesis

19, Piezometeris uced to measure
{&) pressure in pipe and channels etc,
(B} atmospheric prassuré
1Y vary low pressure
|0} difference of pressure between tWo
LOINS ’

121, falting drops of water become spieres
due to the property of
{A) adhesion
(B) cohesion
(C} surface tension _
(D) viscosity " 2 _ :

1272: Kinematicviscosity is dependent i:pa'n
{A) pressure v
(8] distance
{C) flow
(D} density

123. The , stress-strain. relation- of the
Newtonian fluid is . .
(A} linear '
(8} parabolic _
.(C) hyperbolic ’
(D) inverse type ] .

124. Gauge pressure isequalto - . =

. (A] absolute pressure + atmospheric -
, pressure . St '
(B) ahsolute pressure — “atmospheric:

. ",  pressure : ey

r - [Cy dtmospheric pressure = absolute .

- ' pressure’ LR

R " (D) atmospheric pressure—vacuuni i

- L]

collegedunia:s

India’s largest Student Review Platform



reddrrrr mum s ow

* w L

125. The locations of atoms and- their
particular arrangement in a given
crystal are described by means of
(A) potential energy '

{B) space lattice
{C) intermolecular bond
(D) diffusion <+

-126. The ability of a material to withstand

- bending without fracture is known as
{A) mechanical strength
. (B} stiffness
{C) toughness
. {C) ductility .

127. The process of growing large molecules
from small molecules is I-muwn as
(A) polymerization
(B) pniymorphrsm
{C) hysterisis )
{D} allotropy g

128. The process involving the heating of
. steel above upper critical temperature
-and then quenching in a medium such

as brine, water or oil is known as
(A) annealing

{B) normalizing

{C) tempering’

(D) hardening

129. Hyper-eutectold steel is -a steel
containing carbon
(A) less than 0.8% -
- (B} equal to 0.8%
- {C} from 0.8 10 2%
* (D) zero percent

130. A test used to determine the behavior

.of materials when subjected to high
rates of loading is known as

{A) hardness test _

(8) impacttest ... o

(C) fatiguetest

{n}turs'lon test

1_;1. To hcrease.tim mrrnsmn resishn:e of
stee. . - - .
{A) vanadium Is added as an alloying
_ &lement °

{B) chromium s added as an-alloying
element : 1

SET-itlf Group: Mechanical ,"'2-0.! &

[C) nickel is added as -an alloying .

element
(O} copper is added as an al]n‘,rmg
element

132. The first product in the process of
> converting iron ore into useful metal
‘from a blast furnace is known as
{A) castiron
{B) wrought iron
{C} pig iron
(D} steel

133. When carbon in the tast iron is mostly
: in free state, tha cast iron is kiiown as
(A} molted cast iron
(B} white cast iron
.{C] grey castiron
(D) black cast iron

134. The process of introducing carnon and
nitrogen into a solid ferrous alloy is
known as_ '
{A) carbonitriding
(B) nitridihg

{C) carburizing

' (D) cyaniding

135. In oblique cutting system, the chip
flows over the tool face and the
. direction of the chip flow velocity Is -
(A} normal to the cutting edge '
(B] parallel to cutting.edge
(C} inclined with the narmal to the
; cutting edge .
(D) axial to :utting edge
136. The oniy angie on which the strength
" of the tool depends, is
+(A) clegrance angle - .
(B) rake angle

- . [C)cutting angle .

-{I.]}Itﬁangle“ ooq

bt ol

137, The relaﬂumlip‘ between tool ijfe ('l']

. wmmwmbemdas

wv*r C
4m—=¢n'd oy
[l’:}VT"'C

mi=c - .
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A device which helds and locates a
. wea k pizce during an inspection or for

IA) fixlure -
. {s)ig
) (C} iathe
{D} tamplate
138.
: . -force tends to lift the work piece
- {A) climb ’ T
{8} down
[C) conventional
D) face

A Yeaf saring in sutomok: fa is used io
{8} appiy forces

'8} sn2asure force

i zhzorh shodk

. i) stare strain energy

140.

1431, Whean ¢ helice! rompression spring is
E subizcted 1o an axial compressive lopd;
the strass in the wire s
{A) tensiie stress
.{B) comgpressive 3iress
{C) shear stress
{D} bending stress

in GAMTY CTHART {ciﬂsmg hracket}
symbol signifies

{A} planned progress of an actmt\,r

{B) change over time

iC) pfanned completion of 2 production

142,

- -

. activity
g {D] planned start of 2 produt:tmn
activity

. 143, Which type of pattern is used for
] producing piston rings of 1.C engines?

= - (A n]atch plate pattern

; ' (B) loose piéce pattern

(C) gated pattern

{D] sweep pattern

7. 144, Gy castifonls usually welded by
'l (Af gas welding g v
e (B) resistance welding
i ow Ot (€} fumance brazing o
- (Dj laser welding .

is correct? .

s mantfasturing opératicn, is known as .

In which milling operation, the tutting. '

145. Which one of the fnlluwlng, statements :

SET-HIf.Group: Mechanicel /2016

{A} non consumable électrode is used
it gas metal arc welding ;

IB) coated electrodes are used in
shielded metal arc welding

(C} AC can be used for gas tungsten arc
welding process

{D) laser beam welding employs 2
vacuum chamber and thus avoids
use of a shielding method

146. The most economic ofder quaniity in
terms of total item consumad per year
{A}, procurement cost {P) per order and
the annual tnventory carrying cost (C)
par item is given by
() A2

{B) 24F
&

(&) arC
(D)=L,
C

'o
)

-

147. The attWi‘ties in a network diagram are
represented by a
(A} circle,
(B) square - ' .
{C) rectangle '
{D). snmpte armw drawn from left tn
r'ght " - L
148. The sqhare of standard deaviation is
aiso called,
_{A) skewnes
(B} variance .
" {C) medium - .
(D) mode

149, The
. micrometer screw gauge serves to

(A) check wear out -~
* (B} epsure a uniform measurmg force
(C) eliminate play : 4
(D) use it as a snap gauge-

150. -Time taken to drill a hole through a 25
mm thick. plate at 300 rpm at a feed
tate ¢f 0.25 mm/revolution will he .

. (A)10sec ! .
* (BY20see - Sl
. {€)25 sec -
(D) 40 sec,’
14’ S y e

ratchet mechanism in a-

collegedunia:s

India’s largest Student Review Platform



SRR ECRTY

Wh‘m.ﬁ_vqh—m—“rm A e e R g

EEETFCTe,

;s Ko w3 P
Ey 0 i
i N
=~ -
= | B
' :
: " ;h ) 1: : -
- i i 5 a - :
. . . 3
" ! E
; CTOREPTE AL o [T M L e ¢
# i I eyt e TIE :
I S w4 L e T e ] LVPRT: e T
E A r‘ﬁ fn J\' T ol oL :
i - B i
Fman Moo "'5"“ Gz ol g mor oM g g il b AL . =2 -
h % R TR OIS I Perpie LR EER R | i .
l"""'H*JI- i ﬁ&,ii.lnu"ﬁ e, L,_,_ £ i ™ § .,% i i \_--..m e g ¥
¥ W + By -.e._-luc"'-n ¥ P apk l-n..u-r R K X » L
' q - - . e S - rY
1- “Ehu{ \ _1-htr\m ; %‘l..‘p}.{‘l’l r"" -.1ﬁ._- P kS u_.:u‘n,.i--ﬂ‘
ke o BRI, 3 i 2 = |\1ﬂilu|'. IR -i" Lepmaar il R BT - : -
i-"""'"_ 'y :-—'JN‘ I.ﬂ""" L - T I TS PN Toioe g it ﬂ'mm o B wq.p .
¥ -""i:\I,. 77 e . L
[ ; 1 bl -n? ?“. T
';.',_L".I:'.:-." =2 -}_‘_'n,‘l
. '.a-c:i':)n' Rl
“_au- ) ER T T LY o B
LR TR S0 mfe e, .-iﬁ i L
EW\ [ gy A s R
"i‘_"’“f""‘.'..ﬁ-m,l i
4
mﬂy}_ 'E"
.E - w e ! B
=t __Jt
-I"l H Ii'
3 : rLETRTE
1 iy ""_i-m!"-v-'ﬁ. Ll c_
e J'gui-':::f:' e -
mati - i i A =
E Rt = T . =k
Pt o
o LeFAL]
? LAY
[+ e
;l—: ,.r..., e . e
o a.su.-.i--.n- - e
i) T g AR L LR Y i o
; W.:zsﬁw R
5 LSS "S- e --'-'I-"'.-A‘-"
¥ by L T e
T _r i e o TR o |'J'l‘-l‘- - -I\"I'l.-
4 IR T L = "‘tD - .
i '-l:.-;,. .36 mrre...# R0 Calad a0

PRI

Trew ik

Lhats

e r o
Earerd |

P aviorin =

I Bl

el
e
T

ot

Eevegm
TR T

T

T R T T

" Fip G T e
: - ;.M.-il‘f
L S T
P

R -:* ﬂ'

’ e

A ......'\d'

— e
i A E i
v -

NE Ty

e =

s s Mgt
= .

B B s

‘.'.--r-‘ [

7
T o R 1

u.—l‘ﬁ:",f'

ol
i

LCTT R
i
iy

a s

L e iy,

L o

L

Sl S

L3 T
v err 1 B

e FOTLERE B

-y - Oy B
=1
H
i
s
o R 5 B
B

e, e e 2 ) ALY

B

by P R 1,‘
L 2 ] [N )
oy Frrtart Ll 1
- o e ,.:‘ o

2 o e

A

’
s e AL ]
. Wad I‘I = 4
o ' " gl
F -I,i!y'ﬁ-“‘q Rl i
o o
I'1 -

Fl i O P i b i 32 wfurbpriey P i e
" ) = i+ O . g k
1 LY Ry F] T b i [EE R VN EA
- 23 C e - i.-!J'_i-.! S kP

o LA .4-:‘- Ll J TR t?l-"'-.i' r_h.-
— b . o : s
Jrmiim - e rr g T ik
H = i e 5 2
i = % -G T ; o LT TR s PR PPt Lok
LR il ) x plr ol
# Far il bt d r 'J e - v vk ‘-. amy
e Ceeaek B S g
vt BB i -“ﬁ-n g Sl i Ateren ] A LE R
" L L Pl = - . o, JE A T
T EE =2 g o °F 1" EEY || pa
] . 71T IRk AL i - - 3 o -
. - eyl TELG g i
- X . o
. T, T i) % i
'y . L e -
S e NGRS IR b
o BT T win . r i e g i g ipanapill
v - -
= Fl
;  Upk 3 "
- = SR o G
- o Xt ﬁ 1| Sy
‘l - t e
» ; F r
- NP e Hrmy k- L -
eaoa . - S ¥
[ B fean 2 < 3
. * . R
% # LomlEe i,
g (] i i <

- .
o
- -
%)
._ W Wt ] gl et e T

]
P
By [l
.
a7
= n :

-
.
.
.
-
-
.
.
N
.
.
. .
.
.
-
- a -
-
.
.
.
L
: . e
.
.
.
§ .
. -
L]
.
. -
.
. .
L3

collegedunia:s

India’s largest Student Review Platform



